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1. 3079 GART d& HTdeeT H Y fhU aTv Hiet-eligeT 3T o TR 9T 3T9eh forfrd uliet & fow smafa
TR aram §1 A 39 99 A el FaAr BT Irerd WiafSe ot & A1 feirdel & TR 39l Qe

GRIKECR NI E DK ER DRI Gl K ARSI

You have been called for the written test based on the online data furnished by you in the web application. If
you have wrongly entered in the web any information or you do not possess the required qualification
as per our advertisement, your candidature will be rejected.

2. 9%-UF, 80 WeAT @ I FeA-GRaH F FT A 3R e iy afer 02 6e g |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. OX fawedt afgd avgics gaR & e gt o & % ve afira &7 @ @@y o |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4,  9AF YT HfAT 04 3 gRT IR TAF AT Ieal HiAT T ek &lel AT |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. WRAIFHIcR A & far g@ll 9fd afgd HeRT MTANR Scar-giede & sireet
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 39, Scc-GiEceht # QT AT e[St o AR, ATH/HTell TITET & dlel ST Uel § INTHIN Seci-
qRedeT & Hafed 3ifae i 3ifard F TEY 3cal H1 9q FEA B
You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. U U & Tl 3Heieh 3ca] Aol ATT ST |
Multiple answers for a question will be regarded as wrong answer.
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15.

maﬁ”ﬁﬁﬁgﬁama—gﬁawavﬁaﬂg.aﬂvﬂmmwwﬁﬁwwwﬁm
Rl

Question booklet code printed on the top fight corner should be written in the OMR answer sheet in the space

provided.

q%a-gﬁawﬁmmmyammaﬁ%ﬁl

Enter your Name and Roll Number correctly in the question booklet.

mmw-wﬁmqﬁwmmmﬁﬁamw@ﬁﬁmm|

All entries in the OMR answer sheet should be with blue/black ball point pen only.

ﬁwgﬁﬁﬁwﬁmﬁﬁﬁmgﬁ-mwwmml
You should sign the hall ticket only in the presence of the Invigilator in the examination hall.
- T, Ale TR T Y epafer A § Seetl)

' Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be

allowed inside the written test hall.

qﬂwqﬁﬁﬁm.sﬁmmw-gﬁ?mﬂm%%ﬁm@m@aﬂrwwmm
gﬁawﬁﬂ%a#mﬁamqaﬂqﬁrmwuﬁl

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the
original OMR answer sheet to the invigilator and retain the duplicate copy with you. ‘

e qRecTehT 33t 37 T T Heh & |

The question booklet can be retained by the candidates.

a5 e i & Rt eIt R G gfel Bigl B A e 6

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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TFRNTE =t (F3=r) - 92 4. 1344 & 1379/ TECHNICIAN B (ELECTRICIAN) — POST NOS. 1344 & 1379

PIV of a diode indicates

(a) for@x qreerfors Fieear/Peak Instantaneous Voltage

(b) ferex wfaen® Fieear/Peak Inverse Voltage

(c) frg wfdeiw w1A/Peak Inverse value

(d) st =T & "@&faa 78T &/PIV do not apply to diodes

2. WHIHIT IIHE & (& TH TAT SHH1 STINT T 872

Which is the configuration of opto-coupler and its typical use?

(a) TETEET T U BT STATE, T F O S g §
LED and a photo diode, used for isolation

(b) TTEST U U v e, Ruw wr s Ruygw e &
LED and a signal diode, used for signal clamping

(c) ziftreex ud Terd<l, dreear yadq & forg wer g1 &
Transistor and LED, used for voltage amplification

(d) el T uF giieey, &ivm & forg 94 gid &

Photo diode and Transistor, used for attenuation

3. USRI F hfe TEATE, TR cveeeee, |
hfe of a transistor increases if
(a) e FaeaT= S@Tar SttaT §/Base width is increased
(b) ST ¥ rafsyer FY % =7 1At &/Doping of base is reduced
(c) zifaeeT % afxr Sqaai® * I@MT STaT &/Power rating of the transistor is increased
(d) rg F TRRET w1 ITART AT SITaT §/Metal can packaging is used

XOR gate

() <r Rfes e F97 q9u=T &, THH T899 F7 & (T ITANT 73T 1 96T §
Can be used to know whether two digital inputs are identical

(b) ¥E TF Al g, S i s FLar g
Is a NOT followed by OR

(¢) TS E, S Ure ™ FXaT §
Two OR gates followed by AND

(d) < a9 % gHa % forg START 98T 6T ST g9ar g

Cannot be used for matching of two inputs

5. Aufefaa srewr srard @aaefEer) e &7 & 8 0xFO — 0xAA+0x10 .............
The following Hexadecimal operation yields : 0xFO0 — 0xAA+0x10
(a) OxAS (b) 0x56 (© 0x74 (d 0x66
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10.

11.

100 (FeTeer) T Frae 3 forg fEememdy F8eT & FH-H-F1 oo 2T TRyl
A binary counter to count upto 100 (decimal) needs at least

(a) 7 Merawriea/7 flipflops

(b) 6 feraoraied wd wa i< 4e/6 flipflops and one OR gate

(c) 5 fueruwrare ua &1 wes /5 flipflops and two AND gates

(d) 50 frerawiea/s0 flipflops

AT 3 S0 STeraTaS § gHTede wrafare fhaar g 82

What is the resistance during heating of the thermostat in a water heater?
(@) FO97 1kQ /Around 1 kQ

(b) < Q% grH/Close to Zero

(¢) 100 MQ T aiftr 37 #r/Very High value upto 100

(d) faga/Open

o U § ST FATRA o F 99 g9 2

The capacitor in an electric fan is connected as

(a) T S F A Aviiag/Series to start winding
(b) Ex F=F F ATH Aviiaz/Series to main winding
(c) W& Feoi ¥ gATia/Parallel to main winding
(d) e F=a % guia/Parallel to start winding

FIF-8 TT FT STHTAO FT ATLTHAT T2l 87
Which pump does not need priming?

(@) TATHT T9/Reciprocating Pump
(b) e 99/Jet pump

(c) ¥TETEA & 99/Submersible Pump
(d) s T9/Centrifugal Pump

110KV ¥ 5 it Tt dreear F7 0T qeaaar gL g=mer % g frar smar & i |

AC voltage of the order of 110KV is typically used for long distance transmission mainly because
(a) o =Teri HI g e g/Thinner conductors are only required

(b) AT $Y @eraAT F7 g/Chance of Corona is less

(c) = 110kV AC Seatfad FXd g/Generators produce 110kV AC

(d) T3 uTeR ¥ 110KV g 7 sriverm 2t /Some customers may need 110kV supply

ﬂﬁﬁﬁﬁ(ﬂﬁ?{ﬁﬁ@ﬂﬁﬁqﬁwmﬁwmwﬁﬂﬁﬁﬁﬁﬁﬁﬁ-ﬁﬁﬁ%l
Comparing underground system and overhead system of power distribution which of the following
is TRUE

(@) IuTet worret gefara 8/Overhead system is safer

(b) ST SoTTelt F Srfareh @RralY o i &rerT 8/Underground system is more prone to faults

(c) ST FurTelt W&t &/Overhead system is cheaper

(d) sIfReTa Sorreft st ST AT &/ Underground system is easy to maintain
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12.

13.

14.

15

16.

17.

ares fAaeTaedt F argaTe, STver uieR § 3 Sieear & forg ST ud areafas Sieear & a0 sfgwas
A AFAT o 2l

As per IE rules, the maximum allowable variation between declared and actual voltage at consumer
premises for low voltage is

(a)

g ey &1 w1 % yaATafdT F 9 § S Tt 6 ¥R § q9a R S 8?7

+5% (b) +6% ©  +10%

How the generated AC is connected to the load in a stationary magnetic field type alternator

(@)

fewete f41 % wfw/Through split rings

(b) e fir % siftw/Through slip rings

(©)

ey gy % 9w/ Through direct connection

(d) F¥geeT F TR/ Through commutator

TOAET ... & srgeaT ® gy & JrEar gl
ELCB breaks the circuit on event of

(@
(b)
()
(d)

qieedT & A1+ fae[a sreA/Electrical line under voltage
T % H9< [9=a @ir3+/Electrical line over current

¥ &7/Earth leakage

FreedT & U< faga ars/Electrical line over voltage

Fuse box in a domestic circuit can be replaced by a

(@)
(b)
(c)

(d) Euerdtdt v gHEE FT H499/A combination of ELCB and MCB

TR T aga/Set of MCBs
sfruwetss 1 aqg3/Set of GFCls
Ut T T9ga/Set of ELCBs

ST AT F IO, T IR o & | 92T gl

Due to skin effect the effective resistance increases

(@)

AC #t st smgfy F ara/With increasing frequency of AC
AC #Ft =Tt srgfy % 519/ With decreasing frequency of AC
AC Ft ggdt ateear & ara/With increasing voltage of AC
AC &t gt qieear % ara/With decreasing voltage of AC

Corona loss in AC transmission lines is independent of

(a)
(b)
()
(d)

qTerhi & sara/Diameter of conductors

HTeTi & S19 sqe/Spacing between conductors
Tl it Y8 TwTS/Surface cleanliness of conductors
FTeTh! & o1 & g7/Current through the conductors

5
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18.

19.

20.

21.

22.

23.

24.

0.1 ohms T SF=R el Tfaare a1 200 ohms #I ¢z Fre«t wfdrg 1 TH 200 Volt gie St SR,
2 KW T 9T 34T & lamps & SHEC G oo, 2l

A 200 volt shunt DC generator of armature coil resistance of 0.1 ohms and shunt coil resistance of
200 ohms delivers a load of 2 kW. Armature current in amps is

(@) 10 () 11 © 1 (d) 20

4 %’Jﬁﬁ?ﬁﬁlﬁﬁﬁ%wmmﬁﬁﬁﬁmwé?
How many parallel paths in simplex wave winding of the DC Motor with 4 poles?
(@ 2 (b) 4 ) 6 (d 8

qw:aﬁi%wwfﬁsﬁzﬁﬂﬁwﬁiﬁvﬁ%wﬁﬂﬁ%éﬁmqﬁﬁamz ........... EELEL
Resistance between one terminal of armature coil and one terminal of shunt coil of a separately
excited generator is typically

(a) 0.1 ohm (b) 100 ohms

(¢) 1000 ohms (d)  Greater than 100 M ohms

St T ¥ T FI AR e CAGIE G

The armature core of DC generators are commonly made of

(a) «r&/Iron (b) fafeF seama/Silicon steel
(c) =g %mdw zeara/High carbon steel (d) & ww/Stainless steel
Sreft gt Hrex 1 O TRqy A Bk TS T G ST & A e 2T 8l

If field circuit of a DC shunt motor gets opened at light load, then
() Wvex 3g T 9T FaT &/ The motor pickup very high speed
(b) ez fa i+t & STt/ The motor will slow down

(c) WX & ST/ The motor will stop

(d) e "reTeer A § ST/ The motor will run normally

e T 3 T T v 3

Motor used in electric traction is

(a) <Y FFTeE/DC compound

(b) <4t 2iz/DC shunt

(c) T AR/DC series

(d) <t wifwT ¢z Frree/DC long shunt compound

éﬁ?ﬁ%‘ﬂﬁ%ﬁﬁ%?ﬁﬁﬁ?ﬂﬁﬁ%@ﬁﬁ?—?ﬁﬁfﬁﬂ‘@ﬂﬁﬁ?

Which method is NOT correct to change the direction of rotation of a DC series motor?
(a) af¥f efifaer 1 gaorar age1By changing the polarity of supply terminal

(b) 3ofY & % =¥ A1 age/By changing the terminal of series field

(c) Fer & Ry Fir swow § = /By interchanging brush contact position

(d) ami=r % =i FI aa=/By changing the terminals of the armature

6 1344 & 1379



29,

26.

27.

28.

29,

30.

3.

St sie Wex i goia i b saeht Frafi afd & o afw GIT SETAT ST &l gl

The rotational speed of a DC shunt motor can be increased above its full speed by
(a) &= &< &7 s@T/Increasing field current

(b) &= 4T Y FeT/Decreasing field current
(c) =T 8T FT 9T/ Increasing armature current
(d) =L 47T F ger/Decreasing armature current

agTe x2 — 51 F T F T T TOARA covvvvnen &l

The sum and products of zeros of the polynomial x% — 51 are

(@ 0,51 (b) 0,-51 () 2,51 @ -2,51
af% u Tt (AP) T AT AT 5 §, A @yg = @13 weevereennns 2l

If the common difference of an AP is 5, then a;g — @43 is

(@ 5 (b) 20 (¢) 25 @ 4

Efficiency of a power transformer is in the order of
(@ 60% (b) 70% (c) 80% d 97%

FTATR (RUSTSH) TH T ITET ERUT § A dqieedr 22 KV a7 3 dieear 220 V 81 5"
fardar 100 A #Y S 5T YT F< T &, 7 T & e 2

In a step down single phase power transformer, primary voltage is 22 kV and secondary voltage is
220 V. When secondary is delivering a load current of 100 A, primary current is
@ 1A (b) O0.1A (c) 100A (d) 10000 A

WWWW@W@@)WmOOWﬁm@ﬁ%aﬁar%?mt(aﬁ%’)wwaﬁ
et gfr?

What will be the copper loss at half load of a single phase transformer which is having a copper loss
of 1000 W at full load?
(a) 1000 W (b) 500W ) 250W @ 125W

@gﬁﬁm@wm%mﬁwm@ﬁ,ﬁ%%mawmﬁmw%aar%iféfrﬁzrrﬁ‘ﬁ
ﬁmm%ﬁmﬁﬁ:ww%w@ﬁ%m—wwaﬁwwéﬁﬁlwﬁ@r ............ Fgd gl

Two dissimilar metals such as iron and copper are joined together to form a part of a device. When
the junction is heated, a voltage will be developed across the open ends of the wires. What is this
device known as

(a) wwiHeythermometer (b)  wHIHTw/thermocouple
(c) wffewthermistor (d)  uTEdEiEYpyrometer
7 1344 & 1379



32.

33.

34.

35.

36.

37

(@ 1mm?’ (b) 1.5 mm? (¢  2.5mm’ (d 4.0mm

T AT - 2, Fraes forg 3T S & waetT weddHiex s e s awar g2
What are the measurements for which analog multimeter can be used without battery?
(a) FreeaT, €T UE Siadre/voltage, current and resistance

(b) Freear Ua gRi/voltage and current

(c) wfaTrg/resistance
(d) wiadry ©a dieearresistance and voltage

HE (9T 2ewiR) % efifqet & tudiex & s w2 997 77 a=mEeEr g2
What precaution to be taken while disconnecting the ammeter from terminals of CT (Current
Transformer)?

(@) IS ¥ fgeia® &7 y-H9e/Earthing the secondary of CT
(b) Ui Fr BT F & 7 S F A B T[T F AT
Short circuiting the terminal of the CT before disconnecting the ammeter

(c) Tl A w2 ¥ e € F sl F a1 Ig wiadre 972 Hr fEa=1|

Switching a high resistance shunt between the terminals of CT after disconnecting the
ammeter

(d) Ufiex &1 AR w3 & arg € & et AT

Short circuit the terminal of the CT after disconnecting the ammeter

T HTOT ITHLT & TEe< & dIe U T 911 7 3299 T 872
What is the purpose of providing a mirror behind the pointer in a measuring instrument?
(@) &her, TYUT A WEIT grdt &/the scale is illuminated through the mirror

(b) UL HST § AT el Tg <@+ ga/to observe that the pointer is bend or not
() srerurastt 19 3 shreor advr, IUFHTT h ArafiF AT F e # qgES aar g
Being semi-transparent a mirror helps in the study of inner construction of the instrument
(d) uiEex 7 Ig+ foa % e & ST &7 geTd §U TTeai® &1 At & 7 H4 aq
To make the reading free from an error by removing parallax between the pointer and its
image

orfRp 37 afae & YR AT ATF H ~gATH ATATF & ... FAT AT

The minimum conductor area of a copper conductor used in a power sub circuit should be
2

T I § 200 FEear § 200 W geht 9T g1 B 3w afvoryr $i s 82
An industry has 200 numbers of 200 W light load. How many numbers of sub circuits are required?

(a). 25 (b) 50 (c) 100 (d 10
T AT &, R AT & oo, T § I ST 9haT 7
In domestic wiring neutral line is typically identified with a colour of ...........
(a) gU/Green (b) =T=/Red (¢) /Gray (d) sFr/Black
8 1344 & 1379



38. =g fuw & st ara i e ¥ eor gy o FATET TE a5 TlRw)

39.

40.

41.

42.

43.

44.

As per IE rules the leakage current in wiring installation should not exceed more than
(@) X R AT 1/ 50 9R11/ 50% part of full load

(b) X ATTHT 1/ 500 911/1/ 500 part of full load

() X AR AT 1/ 5000 911/1/ 5000 part of full load

(d) X AT FT 1/ 50000 9T1/1/ 50000™ part of full load

Frerofia Sooft Mo s Re ¥ Affg Gedw o . O FTAT )

The magnetic field produced in the stator of three phase induction motor rotates at
(2) i TfA/Rotation speed
(b)  EgTler T & FTVAbove synchronous speed

(c) geasTier wf/Synchronous speed
(d) feerT 7fa/Slip speed

@Wﬁhﬁmﬁﬁ%ﬁaw%maﬁﬁqmﬁﬁﬁm{ﬁfwéwﬁmwmﬁmﬁ?
ferar smar &, drag . F T F3)

An alternator supplies electric power to various kinds of load in a factory. If the phase sequence is
changed it will affect the

(@) 3 =ofla a9 gRww/3 phase heating circuits

(b) 3 =ofta #rex 7Rw%/3 phase motor circuits

(c) T =01 WX TR7A/Single phase motor circuit
(d) wrer IR9H/Lighting circuit

T 50 Hz 4 pole THT 7 HIZX 3.4%.% foors & ot @1 &1 Frec iy 7fy .. =

A 50 Hz 4 pole single phase motor is running with a slip of 3.4%. The speed of the motor is
(& 1279 rpm (b) 1120 rpm () 1449 rpm (d 1540 rpm

T AT i et Fieear wR ara S arr anfrafi l

The terminal voltage of alternator will increase with load current if
(@) WX 9farer &/Load is resistive (b) A YTMr* F/Load is inductive _
(c) ST 4TiET &/Load is capacitive (d)  S94w & & F$ TEH/None of the above

AT (oo T & T Ay gy & T = 7 STt

The current from the stator of an alternator is taken to external circuit through
(a) fa RavSlip ring (b)  FAMRARTF d/Commutator segment
(c) ieT we/Direct connection (d) e s9/Carbon brush

=1 Rl & 3-=ofiyr ot e a1 st afd gl

The maximum torque of a 3-phase induction motor under running conditions is
(a) &eATS dteedr & qfAeia: arqariF/Inversely proportional to supply voltage
(b) = feeet wx Tex it % e smurfas

Inversely proportional to rotor reactance at stand still
(c) ez wfadrarsar & @ar AguTiaF/Directly proportional to rotor resistance

(d) S9d § ¥ Fr$ T/ None of the above

9 | 1344 & 1379



45.

46.

47.

48.

49.

50.

g1,

TR ZTEHHL AT B 19 8T 7 ATF o7 F47 87

What is the standard value of secondary current of a current transformer?

(@ 10A (b)) SA (c)

T LRSIEX § W AL ..o 2l
The motor used in household refrigerators is

(a) <tHT =it AewDC series motor
(b) =TT @iT AIew/DC shunt motor
(¢) SWIYTT HIeLuniversal motor

2A @ 1A

(d) wHer =Tofta Joft AeUsingle phase induction motor

rerferfera St oo §, R3 H g1 .......... 2l

In the following DC circuit, current in R3

R1=50Q

e

—[ 75V RZ =50 R3=50Q
(a 1A (b) 05A ) 3A (d 025A
A Al THS ... 2l
Unit of inductance is
(a) Mho (b) Henry (¢)  Coulomb (d) Joules
& IO TRT & ARE IO .o gl
Power factor of a purely inductive circuit is
(@) </Zero (b) TH/Unity (c) Hi/Leading (d) «fiv/Lagging

QTETIOTT: B ATIRAT &7 3 9 ... 2l

Earth resistance in a typical domestic wiring is

(@) 5 Ohms & F#/less than 5 Ohms (b)

(c) 9gd asT/Very Large (d)

(—1)° — (—1)3FT O ... gl

The value of (—1)° — (=1)3 is

(@ 0 (b) 2 (c)
10

T 100 Ohms/Around 100 Ohms
I 1000 Ohms/Around 1000 Ohms

1 @ 8

1344 & 1379



92,

53.

54.

55.

56.

T FITE ¥ T @ AT TS 174 3., 159 AT, 163 F.Y, 170 T, TAT 164 TG shtaaT w1

The heights of 5 students in a class are 174 cm, 159 cm, 163 cm, 170 cm and 164 cm. Average
height is
(a) 170 & 4ft/cm (b) 166 #.Hi/cm (¢) 163 &#dt/cm (d) 165 &#Ht/cm

8 5 qF 20 W ¥ 10 Terset afvral % ITghT By ST O TR I oo gl

Units consumed when 10 numbers of 20 W LED lamps are used for 8 hours

@ 1.6 (b)) 16 © 02 @ 20

100Hz &Ry T 100V F ARLTHTH AT F AT T qe2dT AT qHIHLT oo 2l

Equation of an AC voltage with frequency 100 Hz and RMS value 100V is

(a) 100sin (2007t) (b)  100v2sin (200mt)
100

(¢) 100+/2sin (200v2mt) (d 5 sin (200mt)

If2 ©F SRAYF A dreedr I oarar FT RAT ATAT § qur GRdyE F 7 A FET FC QAT 4w g, v

If the voltage across a resistor is halved and the value of the resistor is doubled, the power

dissipated in the resistor is

(a) W AT F A5 § & TH/One eighth the original value
(b) I A F TF =1415/One fourth the original value
(c) H= w1 =T Arav/Half the original value

(d) = /T FT FATDouble the original value

7 TF FOR ATAT T 5A T G TaTRd ST, 97 T H { A1 LI FE § Fha gl [@ar?

If 5A current flows through a copper wire, how many electrons will pass through the cross section
of the wire in one second?

(2) 2.4x10' (b) 31.2x10" ) 624x10" d 6.67x10"

11 1344 & 1379



57. afe Raw S ot d= 7 fay wrrar & ot Yweflex wris 1 F=41 g

58.

59.

60.

61.

What will happen to the Ammeter reading if the switch S is closed?

(a) I AT T 3T JY ATT/Becomes half the original value

(b) @HTT T/Remains same

(c) ¥ AT T AT g7 ATua/Becomes double the ori ginal value

(d) ¥ AT FT FAT & STCM/Becomes four times the original value

Ao & & frd aram ¥ 927 o widy s

In which of the following, resistance will decrease when temperature is increased?
(a) #T&A/Carbon (b) fAfer=/Silicon

(¢) wHHTH/Germanium (d) 379w Tl/All of the above

15 Q%Wﬁﬁaﬁwwmwﬁﬁ%%msn%mﬁiﬁﬁﬁa%w@1V%1?’rerm 10Q 3 wfa<y
q I<h T 3V A FY 0F Aoft § g ey orav g1 AT T F S-uT< ¥ Freear it 22
A 1V cell with internal resistance 5 and a 3V cell with resistance 10Q are connected in series to

an external resistor having resistance 15Q. What is the voltage across the external resistor?
(@ 1V (b) 2V (c) 2.5V (d 3v

qferrga ¥ wg<h fhee #7912 ......... 2l

Type of filter used in a rectifier is

(a) < qTg f¥eex/Band pass filter (b) % w7 feeyBand stop filter
(c) @ urw fheew/High pass filter (d) =1 9 fEeeTLow pass filter

TR T oTRe [N TR g, AR . |
Power factor of a circuit is unity if
(2) iU T aTRaAT 9T 9 W 2T 2/Inductive effect dominates capacitive effect
(b)  =TRET T 3= T X AT AT &/Capacitive effect dominates inductive effect
(c) WWWWHWW%W&RWW@%%

Inductive effect and capacitive effects are equal in magnitude
(d) = 9TARras T AT 9297 8/ When resistive effect dominates

12 1344 & 1379



62.

63.

64.

65.

66.

67.

68,

Y GyrieET i arfiear 1:2 F squra § 1 g S ST aieedr 2:1 % Hq9Td ¥ g1 TS g9y oafd A,
TRAT § WAL &7 AquTd fhaar 82
Capacitance of two capacitors are in the ratio 1:2. The voltage applied across them are in the ratio

2:1. What is the ratio of the charge in the capacitors under steady state condition?
(a 1:2 (b) 1:4 cy 21 @ 11

UF FEel F ATHE FT OGFET CRAT STAT B TAT SATIH OATS dreedr A srgi T oswem feEm
ST 21 <P e  F AR AT gy

As inductance of a coil is doubled and frequency of the sinusoidal supply voltage is halved. What
happens to the inductive reactance?

(@) W HTH ¥ FHAT g1 ATUAT/Becomes four times the original value

(b) T HIA FT SATET gT ST/Becomes half the original value

(c) ¥ WA T TH AIATE gl STCI/Becomes one fourth the original value

(d) HHT WI/Remains same

feedts v ot = ¥ gy § Fmfofea & & #ia-dt Sir @8 87
Which of the following statement is true for a double pole single throw switch?
(a) =Y Tl H AT Fi STrgar g/Connects two wires to two positions
(b) & afaert % =T Fit @ w29 Far 2/Enables the control of two circuits
(c) uHE gt & ster & fREfEa B s aswar g

Individual circuits can be controlled separately

(d) 37 a+fi/All the above

A Bistable Multivibrator has

(a) FRuT sraeaT AET gIdT &/no stable states

(b) =T R s BT g/two stable states

(c) U FHol WSTLUT 9 gIdT g/one energy storage element

(d) = Rufdgt ¥ &= waa: Ba= grar S/switches between two states automatically

T T 47 & (g ea it 7 9 0. gt =TT

To initiate oscillation, the loop gain of the oscillator must be .......... unity

(a) ¥ %H/Less than (b) 0.5 % FH/less than 0.5

(c) ¥ sfd=/Greater than (d) 39 | & #E 7€/ None of the above
T BT 2 ..o GRRIGGE

A filing tool is made of

(a) &=aT Argl/Cast iron (b) @oar ®i=/Cast steel

(c) g TEITa/Mild steel (d) e #ia/Nickel steel

FreeH e T I T58H & [T ... IERIE I

In order to increase the range of a voltmeter :

(a) T A wiary 1 Aoff # ST STTaT 8/A low resistance is connected in series

(b) FRTATAE & U Ao 7y &t ST T4t 8/A low resistance is connected in parallel
(c) Foft Ff 37 wiarer &7 SITeT SIT4T &/A high resistance is connected in series

(d) TG ¥ IF TRy T SITST SITaT 8/A high resistance is connected in parallel
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et &t Ryx reear araa Y &, [Fast T gof srafarg fufa § g s

In a constant voltage charging method of battery, the charging current from discharged to fully
charged condition

(a) T gfe T &/Increases

(b) =T gre T @/Decreases
(c) %< Tgar &/Remains constant

(d) =TT THA F ATHTT STLITIAF F7 # ggad1 &/ Varies in proportion to charging time

A multimeter cannot measure

(a) &mx/Current (b) fawaTay/Potential difference
(c) smae/Charge (d)  wfirerResistance

2 2 KW % aroe st & 1 kW =2 % T a19e 7 (HAT07 37 2| 568 T 8 93 999 372
We have to make a heater of 1 kW rating from 2 kW heating elements. This is possible by taking
(a) 2 kW T ¥ gehi Y AT & TAT T A0 H ST g
Two elements each of 2 kW rating and connect them in series
(b) 2 kW T 3 &Y S &l 9T § AT THTHIGL § ASAT §
Two element each of 2 kW rating and connect them in parallel
(c) 2 kW =2 T s a1 &/Half of the 2 kW element
(d) wwa 7gl &/Not possible

TF 250V F 7 #F 3000 TqAT FT Fo T & TAT 250V F&F & 0.8 Trfiaw fit gy Aqr g1 gwheAd
TR couismnass 2l

A 250V lamp has a total flux of 3000 lumens and takes a current of 0.8 ampere from 250V mains.
Its luminous efficiency is

(a) 12 lumens per watt (b) 9.6 lumens per watt
(c) 15 lumens per watt (d) 240 lumens per watt

B Soft 3 qer Iot iforeet yaeds i stfdsraw daifas gerar w099 ... B

The maximum theoretical efficiency of a class-B push pull transistor amplifier is approximately
(@ 25% (b) 50% () 70.7% (d 78.5%

o e & AR emf it fam it wg=mT ST EFAT B
By which law, the direction of induced emf will be identified

(@) Tareger Sy S=oft &7 s e few/Faraday’s first law of electromagnetic induction
(b) TaeE e ool =t faefte wae e

Faraday’s second law of electromagnetic induction

(c) = A=a/Lenz’s law
(d) =T %7 9T geafaw/Fleming’s left hand rule
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A D flip-flop can be made from a

(a) =X ww fEa-w=tia/RS flip-flop

(b) % FerT-wa/JK flip-flop

(c) @< ud fFrg-wiiTa TF 54<URS flip-flop and an inverter
(d) (a) ¥ (b) FAI/Both (a) and (b)

sin 30° cos 60° + cos 30°sin60° T ATT ........ 2l
The value of sin 30° cos 60° + cos 30°sin60° is
(@ 0 (b) 172 © 1 @ 32

Wﬁm@mﬁ%ﬁ?w?ﬁﬁ?@?ﬁ%lWW@W%W%%WW%WW@@'E
AT o gl

Age of a father is 3 more than 3 times that of his son. 4 years before age of father was 5 less than
5 times that of his son. Age of the son is
(a 39 (b) 12 () 8 (d 35

BY 127 &, B @ Y......... & gf=d Fd &l

InBY 127, B and Y stands for

(a) wEfREH, TReTas/Germanium, rectifier

(b) f&fees, aRemrg=/Silicon, rectifier

(c) A=W ffrer §9=%/Germanium, signal detector
(d) fafera, fr @g=/Silicon, signal detector

G 4 e are gReaF FAfC @y &
The disadvantage of a Full Wave Centre Tapped Rectifier is

(a) aeht Raer swgfRr Sgaw @/1ts ripple frequency is higher
(b) T St seeEyeE wX Igaw #/dts DC output level is higher
(c) TEAH STATE STHT WIK 1T FT a8 HLaT @/Each diode carries half load current
) ¥z R i & 7 o R araardt g o1 e g
The need of a bulky transformer having a centre tapped secondary winding

1.5 ohm wfare &t 99f §= ... gl

The colour bands for 1.5 ohm resistor will be
(@) 9, &, s/Brown, Green, Brown

(b) T, 1, T fo/Brown, Green, Golden

(c) sT,Eaftiw, ga/Brown, Golden, Green

(d) s, T, @fi/Brown, Golden, Golden
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